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Bachelor of Arts (B.A.) Fifth Semester Examination

ECONOMICS (Indian Economy—I)

(Optional)

Time : Three Hours]  [Maximum Marks : 80

N.B. :— (1) Attempt ALL questions.
(2) All questions carry equal marks.

(3) Draw neat diagrams wherever necessary.

1. (a) What is globalization ? Explain the features of globalization with reference of India.

OR

(b) Explain the role of Public Sector Industries in Indian Industrialisation.

(c) State the significance of cottages and small scale industries in economic development in
India.

2. (a) What is economic inequalities ? Explain the various causes of economic inequalities and
remedies on it.

OR

(b) State the reasons for the creation of vicious circle of poverty.

(c) Explain the types of rural and urban unemployment in India.

3. Answer the following questions in short (any four) :

(a) State the advantages of capitalist economy.

(b) What are the reasons of failures family planning scheme in India ?

(c) Write a note on ‘National Income in India’.

(d) Write a note on ‘Maharashtra Economy related to agriculture’.

(e) Explain the reasons of migration.

(f) What are the reasons for the low death rate in India ?

4. Answer the following questions in short (any four) :

(a) State the types of Irrigation in India.

(b) Explain the role of agriculture credit in agricultural development.

(c) Explain the advantages of Green Revolution to agriculture sector.

(d) Write a note on ‘NABARD’.

(e) Explain the difficulties in agricultural marketing in India.

(f) State the necessities of Crop Insurance in India.
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5. Choose correct options for the following multiple choice objective questions (All compulsory) :

(i) How many years is the census done in India ?

(a) 5 (b) 10

(c) 15 (d) 20

(ii) Which of the following organisations has the measure of National Income in India ?

(a) Local Statistical Organisation (b) State Statistical Organisation

(c) Statistical Organisation (d) None of these

(iii) Reasons for low productivity in Indian agricultural sector :

(a) Increase Population (b) Insufficient Irrigation Facilities

(c) Method of Cultivation (d) (a), (b) and (c) above

(iv) In which year was the concept of sustainable agriculture introduce ?

(a) 1986 (b) 1987

(c) 1988 (d) 1989

(v) The cottage industry is mainly related to which sector of the following :

(a) Agriculture Sector (b) Industry Sector

(c) Trade Sector (d) All the above

(vi) Effect of growth in private sector enterprises :

(a) Increase in consumable goods (b) Increase in opportunities of employment

(c) Increase in capital goods (d) None of these

(vii) In which year was the Food Security Act passed ?

(a) 12 Sept., 2013 (b) 15 Aug., 2015

(c) 1 April, 2016 (d) 1 July, 2016

(viii) What is the name of the sector not registered with the Government ?

(a) Unorganized Sector (b) Organized Sector

(c) Private Sector (d) None of these
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¼ejkBh ekè;e½
1. (v) tkxfrdhdj.k Eg.kts dk; \ HkkjrkP;k lanHkkZr tkxfrdhdj.kkph oSf’k"Vîs Li"V djk-

fdaok

(c) lkoZtfud {ks=krhy m|ksxkaph Hkkjrh; vkS|ksfxdj.kkr Hkwfedk Li"V djk-

(d) Hkkjrkrhy dqVhj vkf.k y?kq m|ksxkps vkfFkZd fodklkrhy egRo lkaxk-

2. (v) vkfFkZd fo"kerk Eg.kts dk; \ vkfFkZd fo"kersph fofo/k dkj.ks vkf.k R;kojhy mik;;kstuk Li"V djk-

fdaok

(c) nkfjnzîkps n‘"VpØ fuekZ.k gks.;kph dkj.ks lkaxk-

(d) Hkkjrkrhy xzkeh.k o ’kgjh csdkjhps izdkj Li"V djk-

3. [kkyhy iz’ukaph laf{kIr mÙkjs |k ¼dks.krsgh pkj½ %

(v) HkkaMoy’kkgh vFkZO;oLFksps xq.k lkaxk-

(c) Hkkjrkrhy dqVqacdY;k.k dk;ZØekP;k vi;’kkph dks.krh dkj.ks vkgsr \

(d) HkkjrkP;k jk"Vªh; mRiUukoj Vhi fygk-

(M) egkjk"Vªkrhy ^Ñ"khfo"k;d vFkZO;oLFkk* ;koj fVi fygk-

(b) LFkykarjkph dkj.ks Li"V djk-

(Q) Hkkjrkr e‘R;qnj deh vl.;kph dkj.ks dks.krh vkgsr \

4. [kkyhy iz’ukaph laf{kIr mÙkjs |k ¼dks.krsgh pkj½ %

(v) Hkkjrkrhy flapukps izdkj fo’kn djk-

(c) Ñ"kh fodklkr] Ñ"kh foÙkkph Hkwfedk Li"V djk-

(d) gfjrØkarhps Ñ"kh{ks=kyk gks.kkjs Qk;ns Li"V djk-

(M) ^ukckMZ* oj Vhi fygk-

(b) Hkkjrkr Ñ"kh foi.kukr ;s.kkÚ;k vMp.kh Li"V jdk-

(Q) Hkkjrkr ihd foE;kph vko’;drk fo’kn djk-
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5. [kkyhy cgqi;kZ;h oLrwfu"B iz’ukaps ;ksX; i;kZ; fuoMk ¼loZ vfuok; Z½ %

(i) Hkkjrkr nj fdrh o"kkZauh tux.kuk dsyh tkrs \

(v) 5 (c) 10

(d) 15 (M) 20

(ii) Hkkjrkr jk"Vªh; mRiUukps ekiu [kkyhyiSdh dks.kR;k la?kVusdMs vkgs \

(v) LFkkfud lkaf[;dh; la?kVu (c) jkT; lkaf[;dh; la?kVu

(d) lkaf[;dh; la?kVu (M) ;kiSdh ukgh

(iii) Hkkjrh; ’ksrh {ks=krhy vYi mRikndrsph dkj.ks %

(v) ok<rh yksdla[;k (c) viqÚ;kflapulksbZ

(d) yxoMhph i)rh (M) ojhy ¼v½] ¼c½ vkkf.k ¼d½

(iv) ’kk’or ’ksrhph ladYiuk dks.kR;k o"khZ ekaM.;kr vkyh \

(v) 1986 (c) 1987

(d) 1988 (M) 1989

(v) dqVhj m|ksx gs izkeq[;kus [kkyhyiSdh dks.kR;k {ks=k’kh lacaf/kr vkgs \

(v) ’ksrh {ks= (c) m|ksx {ks=

(d) O;kikj {ks= (M) ojhy loZ

(vi) [kktxh {ks=krhy m|ksxkaP;k o‘)hpk ifj.kke %

(v) miHkksX; oLrwr ok< gksrs (c) jkstxkjkP;k la/khr ok< gksrs

(d) HkkaMoyh oLrwr ok< gksrs (M) ;kiSdh ukgh

(vii) ^vUulqj{kk dk;nk* dks.kR;k o"khZ laer >kyk \

(v) 12 lIVsacj 2013 (c) 15 vkWxLV 2015

(d) 1 ,fizy 2016 (M) 1 tqyS 2016

(viii)ljdkjdMs uksan.khÑr ulysY;k {ks=kps uko %

(v) vla?kfVr {ks= (c) la?kfVr {ks=

(d) [kktxh {ks= (M) ;kiSdh ukgh
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¼fgUnh ekè;e½
1. (v) oS’ohdj.k D;k gS \ Hkkjr ds lanHkZ esa oS’ohdj.k dh fo’ks"krk,a Li"V dhft;sA

vFkok

(c) lkoZtfud {ks= ds m|ksxksa dh Hkkjrh; vkS|ksfxdj.k eas Hkwfedk Li"V dhft;sA

(d) Hkkjr esaa dqVhj ,oa y?kq m|ksxksa dk vkfFkZd fodkl esa egRo crkb;sA

2. (v) vkfFkZd fo"kerk D;k gS \ vkfFkZd fo"kerk ds fofHkUu dkj.k rFkk muij mik; Li"V dhft;sA

vFkok

(c) xjhch dk nq"VpØ fuekZ.k gksus ds dkj.k crkb;sA

(d) Hkkjr esa xzkeh.k ,oa ’kgjh csjkstxkjh ds izdkj Li"V dhft;sA

3. fuEu iz’uksa ds mÙkj la{ksi esa nhft;s ¼dksbZ Hkh pkj½ %

(v) iawthoknh vFkZO;oLFkk ds xq.k crkb;sA

(c) Hkkjr esa ifjokj fu;kstu dk;ZØe ds vlQyrk ds dkSuls dkj.k gSa \

(d) Hkkjr ds jk"Vªh; vk; ij fVIi.kh fyf[k;sA

(M) ^egkjk"Vª dh Ñf"k fo"k;d vFkZO;oLFkk* ij fVIi.kh fyf[k;sA

(b) LFkykarj ds dkj.k Li"V dhft;sA

(Q) Hkkjr esa e‘R;qnj de gksus ds dkj.k dkSuls gSa \

4. fuEu iz’uksa ds mÙkj la{ksi esa nhft;s ¼dksbZ Hkh pkj½ %

(v) Hkkjr esa flapkbZ ds izdkj fo’kn dhft;sA

(c) Ñf"k fodkl esa Ñf"k foÙk dh Hkwfedk Li"V dhft;sA

(d) gfjrØkafr ds Ñf"k {ks= esa gksus okys ykHk Li"V dhft;sA

(M) ^ukckMZ* ij fVIi.kh fyf[k;sA

(b) Hkkjr esa Ñf"k foi.ku eas vkus okyh ck/kk,a Li"V dhft;sA

(Q) Hkkjr esa Qly chek dh vko’;drk fo’kn dhft;sA
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5. fuEu cgqfodYih oLrqfu"B iz’uksa ds mfpr i;kZ; dk p;u dhft;s ¼lHkh vfuok;Z½ %

(i) Hkkjr esa gj fdrus o"kkZs a esa tux.kuk dh tkrh gS \

(v) 5 (c) 10

(d) 15 (M) 20

(ii) Hkkjr esa jk"Vªh; vk; dk ekiu fuEu esa ls fdl la?kVuk ds rjQ gS \

(v) LFkkfud lkaf[;dh; laxBu (c) jkT; lkaf[;dh; laxBu

(d) lkaf[;dh; laxBu (M) buesa ls ugha

(iii) Hkkjr esa Ñf"k {ks= ds vYi mRikndrk ds dkj.k %

(v) c<+rh gqbZ tula[;k (c) vYiflapu lqfo/kk,a

(d) tqrkbZ i)fr (M) mijksDr ¼v½] ¼c½ vkSj ¼d½

(iv) laiks"k.kh; Ñf"k dh ladYiuk fdl o"kZ izLrqr dh xbZ \

(v) 1986 (c) 1987

(d) 1988 (M) 1989

(v) dqVhj m|ksx ;g eq[;r% fuEu esa ls dkSuls {ks= ls lacaf/kr gS \

(v) Ñf"k&{ks= (c) m|ksx&{ks=

(d) O;kikj&{ks= (M) mijksDr lHkh

(vi) futh {ks= esa m|ksxksa ds o‘f) dk ifj.kke %

(v) miHkksX; oLrq esa o‘f) gksrh gS (c) jkstxkj laf/k esa o‘f) gksrh gS

(d) iawthxr oLrqvksa esa o‘f) gksrh gS (M) buesa ls ugha

(vii) ^[kk| lqj{kk vf/kfu;e* fdl o"kZ ikfjr gqvk \

(v) 12 flracj 2013 (c) 15 vxLr 2015

(d) 1 vizSy 2016 (M) 1 tqykbZ 2016

(viii)ljdkj ds ikl iathÑr ugha gksus okys {ks= dk uke %

(v) vlaxfBr {ks= (c) laxfBr {ks=

(d) futh {ks= (M) buesa ls ugha


